
DETAIL  A

USED FOR 5" to 14" OD PIPE LEGS

& 3" to 8" ANGLE LEGS

DETAIL  B

USED FOR 1-1/2" to 4-1/2" OD PIPE LEGS

PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

34.038.5116 1/2 inANGLE CLAMPX-15832041

28.517.1316 1/2 inBRACKET ANGLE LEG MOUNTINGX-12650142

21.0310.5216 11/32 inUNIVERSAL PIPE MOUNTING PLATE (INNER)X-15446323

26.3113.1620 9/32 inUNIVERSAL PIPE MOUNTING PLATE (OUTER)X-15556124

11.465.736 9/16 inBACKING PLATEX-15999925

3.890.97 1/2" X 4-5/8" X 7" X 3" GALV U-BOLTX-UB145846

8.921.12 1/2" x 20" GALV. THREADED RODG12R-2087

1.740.223 in1/2" x 3" HDG HEX BOLT GR5 FULL THREADG120388

2.160.274 in1/2'' x 4" HDG HEX BOLT GR5 FULL THREADG120489

3.280.415 1/2 in1/2'' x 6-1/2" HDG HEX BOLT GR5 FULL THREADG1206589

1.090.033/32 in1/2" HDG USS FLATWASHERG12FW3210

0.440.011/8 in1/2" HDG LOCKWASHERG12LW3211

2.290.07 1/2'' HDG HEAVY 2H HEX NUTG12NUT3212

1.080.27 5/8" x 2" HDG HEX BOLT GR5 G5802413

0.560.071/8 in5/8" HDG USS FLATWASHERG58FW814

0.100.03 5/8" HDG LOCKWASHERG58LW415

0.520.13 5/8'' HDG HEAVY 2H HEX NUTG58NUT416

64.8164.8172 in4-1/2" X 72" SCH. 40 GALVANIZED PIPEP472117

A

B

DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

RH18

1  O
F

  1
 BMC 4/21/2010

3/30/2010 R5-LL

R5 PIPE MOUNT w/ LARGE LEG ADAPTER
FOR 1-1/2" to 14" OD PIPE LEGS &

3" TO 8" ANGLE LEGS

4718

CUSTOMER R5-LL
CLASS SUB

PART NO.

81 01

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

TOTAL WT. # 148.00

6 10 11 12

3416151413

1

2

1211107

8 10 11 12

6 10 11 12

1211109

5

16151413

3
4

17 17

OR

TOWER LEG,
1-1/2" to 4-1/2" OD PIPE LEG

TOWER LEG,
5" to 14" OD PIPE LEG or
3" to 8" ANGLE LEG

42" MAX.

CTR-CTR

42" M
AX.

CTR-CTR

TAPER NOTE:
THE MAXIMUM TAPER ADJUSTMENT IS 5.7° BASED UPON
30" SPACING OF ADJUSTABLE MOUNTING BRACKETS.
 
THE MAXIMUM TAPER ADJUSTMENT IS 3.8° BASED UPON
45" SPACING OF ADJUSTABLE MOUNTING BRACKET.

B
DESCRIPTION CHANGE: 10-3/4" OD TO 14" OD PIPE LEG. 
NO PART CHANGE

 JT 2/27/2020

A CHANGED THE AMOUNT OF 5/8" FLATWASHER FROM 4 TO 8  MS 12/18/2015

REVISION HISTORY
REV DESCRIPTION OF REVISIONS CPD BY DATE


